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QUESTION 1

An environment has 5TB of file server data and 5TB of database data backed up with a full backup each week. Assume
the average dedupe rates for Whitewater, and assume standard 1% change and 10% annual growth rate. With a
requirement to keep a minimum of two weeks of backups locally on the Whitewater cache, which Whitewater appliances
would satisfy the requirements above? (Select 2) 

A. Virtual Whitewater appliance 210. 

B. Virtual Whitewater appliance 410. 

C. Whitewater appliance 730. 

D. Whitewater appliance 2030. 

E. Whitewater appliance 3030. 

Correct Answer: DE 

 

QUESTION 2

The term for "fixing" a LUN\\'s blocks in blockstore so that they may not be ejected via LRU is: 

A. Pinning 

B. Prepop 

C. Snapshot 

D. Online 

Correct Answer: A 

 

QUESTION 3

Some users at a specific branch have been reporting that occasionally when accessing their local file server (which is
being presented out through Granite appliance onto ESXi), it is continually hanging when attempting to access certain
files, which eventually reports "File does not exist". Other users at the same branch are reporting everything is working
perfectly for them. What is the most likely problem? 

A. The SAN array is having communications issues with the Granite appliance Core. 

B. The Granite appliance Core is having communications issues with the Granite appliance Edge. 

C. ESXi is having issues communicating to the Granite appliance Edge. 

D. ESXi is having issues communicating to the Granite appliance Core. 

E. The Steelhead appliance is not optimizing the Granite appliance traffic. 

Correct Answer: B 
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QUESTION 4

Granite Edge appliance supports which of the following protocols? (Select 2) 

A. Fiber channel 

B. iSCSI 

C. MPIO 

D. NFS 

Correct Answer: BC 

 

QUESTION 5

Before installing a Whitewater appliance 2030 into production, you need to work out the approximate amount of time
it\\'s going to take to "seed" the cloud, to determine whether the current internet link is appropriate. Some stats around
the seeding requirement: 

Full backup: 10 TB Bandwidth to the Internet: 50 Mb/s first pass deduplication ratio reported by Whitewater appliance
during POC: 4x 

How long will it take (assuming you have the full bandwidth available)? 

A. 3.3 minutes 

B. 26.6 minutes 

C. 27.7 hours 

D. 111.1 hours 

E. 444.4 hours 

Correct Answer: D 
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